class DanePrzedmiotow eSlow ni

%

«enumeration»
EGB_FunkcjaBudynku

«enumeration»
EGB_OFU

budynekJednorodzinny = 1110.Dj
domLetniskowy = 1110.DI

lesniczowka = 1110.Ls
innyBudynekMieszkalnyJednorodzinny = 1110.In
budynekODwochMieszkaniach = 1121.Db
budynekWielorodzinny = 1122.Dw
bursaSzkolna = 1130.Bs

domDlaBezdomnych = 1130.Db

domDziecka = 1130.Dd

domOpiekiSpolecznej = 1130.0s
domParafialny = 1130.Dp

domStudencki = 1130.Ds

domZakonny = 1130.Dz

hotelRobotniczy = 1130.Hr

internat = 1130.1t

Kasztor = 1130.KI
budynekMieszkalnyNaTerenieKoszar = 1130.Km
placowkaOpiekunczoWychowawcza = 1130.Po
rezydencjaAmbasadora = 1130.Ra
rezydencjaBiskupia = 1130.Rb
rezydencjaPrezydencka = 1130.Rp
zakladKamyAreszt = 1130.Zk
zakladPoprawczy = 1130.Zp
innyBudynekZbiorowegoZamieszkania = 1130.In
domWeselny = 1211.Dw

hotel 1211.Ht

motel 1211.Mt

pensjionat = 1211.Pj

restauracja = 1211.Rj

zajazd = 1211.Zj
innyBudynekPelniacyFunkcjeHotelu = 1211.In
domekkempingowy = 1212.Dk
domRekolekcyjny = 1212.Dr
domWypoczynkowy = 1212.Dw
osrodekSzkoleniowoWypoczynkowy = 1212.0s
schroniskoTurystyczne = 1212.St
innyBudynekZakwaterowaniaTurystycznego = 1212.In
bank = 1220.Bk

centrumKonferencyjne = 1220.Ck
kuriaMetropolitarna = 1220.Km

ministerstwo = 1220.Mn
placowkaDyplomatycznal.ubKonsularna = 1220.Pd
policja = 1220.Pc

prokuratura = 1220.Pk

przejscieGraniczne = 1220.Pg

sad = 1220.8d

siedzibaFirmyLubFirm = 1220.Sf
starostwoPowiatowe = 1220.Pw
strazGraniczna = 1220.Sg

strazPozama = 1220.Sp

urzadCelny = 1220.Uc

urzadGminy = 1220.Ug

urzadMiasta = 1220.Um

urzadMiastalGminy = 1220.Umg
urzadMarszalkowski = 1220.Mr
placowkaOperatoraPocztowego = 1220.Up
urzadWojewodzki = 1220.Uw
innyUrzadAdministracjiPublicznej = 1220.Ap
apteka = 1230.Ap

centrumHandlowe = 1230.Ch
domTowarowyLubHandlowy = 1230.Dh
halaTargowa = 1230.Ht

halaWystawowa = 1230.Hw
hipermarketLubSupermarket = 1230.Hm
pawilonHandlowoUslugowy = 1230.Ph
stacjaObslugiPojazdow = 1230.So
stacjaPaliw = 1230.Sp
innyBudynekHandlowoUslugowy = 1230.In
budynekKontroliRuchuKolejowego = 1241.Kk
budynekKontroliRuchuPowietrznego = 1241.Kp
centrumTelekomunikacyjne = 1241.Ct
budynekDworcaAutobusowego = 1241.Da
budynekDworcaKolejowego = 1241.Dk
budynekDworcalotniczego = 1241.DI
hangar = 1241.Hg

latarniaMorska = 1241.Lm
lokomotywowniaLubWagonownia = 1241.Lk
stacjaKolejkiGorskiejLubWyciaguKrzeselkowego = 1241.Kg
stacjaNadawczaRadialTelewizji = 1241.Rt
terminalPortowy = 1241.Tp
budynekZajezdniAutobusowej = 1241.Ab
budynekZajezdniTramwajowej = 1241.Tr
budynekZajezdniTrolejbusowej = 1241.Tb
innyBudynekTransportuLublLacznosci = 1241.In
garazJednopoziomowy = 1242.Gr
garazWielopoziomowy = 1242.Pw
budynekElektrocieplowni = 1251.EI
budynekElektrowni = 1251.Ek
budynekKotlowni = 1251.Kt

mlyn = 1251.Mn
budynekPrzeznaczonyNaProdukcje = 1251.Pr
budynekRafinerii = 1251.Rf
budynekSpalarniSmieci = 1251.Ss
warsztatRemontowoNaprawczy = 1251 . Wr
budynekWiatraka = 1251.Wt
innyBudynekPrzemyslowy
budynekSpedycji = 1252.Sp
chlodnia = 1252.Ch

elewato 1252.El

magazyn = 1252.Mg

silos = 1252.8I

zbiomikNaGaz = 1252.Gz
zbiomikNaCiecz = 1252.Ci
innyBudynekMagazynowy = 1252.In
budynekOgroduZoolLubBotanicznego = 1261.0z
domKultury = 1261.Dk

filharmonia = 1261.Fh
halaWidowiskowa = 1261.Hw
kasyno = 1261 .Ks

kino = 1261.Kn

KubDyskoteka = 1261.KI

1251.In

gruntOmy = R
sad = S

lakaTrwala = £

pastwiskoTrwale = Ps
gruntRolnyZabudowany = Br
gruntPodStawem = Wsr

gruntPodRowem = W
rolnyGruntZadrzewionylZakrzewiony = Lzr
las=Ls
gruntZadrzewionylZakrzewiony = Lz

terenMieszkaniowy = B

terenPrzemyslowy = Ba

innyTerenZabudowany = Bi

zurbanizowanyTerenNiezabudowanylLubWT rakcieZabudowy = Bp
terenRekreacyjnoWypoczynkowy = Bz

uzytekkopalny = K

droga = dr

terenKolejowy = Tk

innyTerenKomunikacyjny = Ti
gruntPrzeznaczonyPodBudoweDrogPublLubLiniiKolej = Tp
uzytekEkologicznyNaGruncieOmym = E-R
uzytekEkologicznyNaPastwiskuTrwalym = E-Ps
uzytekEkologicznyNalLaceTrwalej = E-L.
uzytekEkologicznyNaGruncieZadrzewionym|Zakizewionym = E-Lz
uzytekEkologicznyNaRolnym GruncieZadrzewionymIZakizewionym = E-Lzr
uzytekEkologicznyNalLesie = E-Ls
uzytekEkologicznyNaGrunciePodWodaPowierzchniowaPlynaca = E-Wp
uzytekEkologicznyNaGrunciePodWodaPowierzchniowaStojaca = E-Ws
uzytekEkologicznyNaGrunciePodRowem = E-W
uzytekEkologicznyNaNieuzytku = E-N

nieuzytek = N

gruntPodMorskimiWodamiWewnetrznymi = Wm
gruntPodWodamiPowierzchniowymiPlynacym
gruntPodWodamiPowierzchniowymiStojacymi = Ws
terenRozny = Tr

«enumeration»

EGB_| j Pomi rzy DolLokalu

piwnica = 1
garaz = 2
miejscePostojoweWGarazuWielostanowiskowym = 3
strych = 4

komorka = 5

inne = 6

«enumeration»
EGB_Rodzaj WgKST

budynekPrzemyslowy = 101
budynekTransportulLacznosci = 102
budynekHandlowoUslugowy = 103
zbiomikSilosiIBudynekMagazynowy = 104
budynekBiurowy = 105
budynekSzpitalalinneBudynkiOpiekiZdrowotnej = 106
budynekOswiatyNaukiIKulturyOrazSportu = 107
budynekProdukeyjnyUslugowylGospodarczy = 108
pozostalyBudynekNiemieszkalny = 109
budynekMieszkalny = 110

«DataType»
EGB_InfOCzesciBudynku

+ oznaczenieCzesciBudynku :CharacterString
+ dataOddaniaDoUzytkowania :Date
«voidable»

+ dataRozbiorki :Date

+ przyczynaRozbiorki :EGB_PrzyczynaRozbiorki

constraints
{atrybutyGUS}

«enumeration»
EGB_KlasaWgPKOB

budynkiMieszkalneJednorodzinne = 1110
budynkiODwochMieszkaniach = 1121
budynkiOTrzechlWiecejMieszkaniach = 1122
budynkiZbiorowegoZamieszkania = 1130

budynkiHoteli = 1211
budynkiZakwaterowaniaTurystycznegoPozostale = 1212
budynkiBiurowe = 1220
budynkiHandlowoUslugowe = 1230
budynkiLacznosciDworcowlTerminal
budynkiGarazy = 1242
budynkiPrzemyslowe = 1251
zbiomikiSilosylBudynkiMagazynowe = 1252
ogolnodostepneObiektyKulturalne = 1261
budynkiMuzeowlBibliotek = 1262
budynkiSzkollInstytucjiBadawczych = 1263
budynkiSzpitalilZakadowOpiekiMedycznej = 1264
budynkiKulturyFizycznej = 1265
budynkiGospodarstwRolnych = 1271
budynkiKultuReligijnego = 1272
budynkiZabytkowe = 1273
pozostaleBudynkiNiemieszkalne = 1274

=1241




schroniskoDlaZwierzat = 1261.Sz

opera = 1261.0p

teatr = 1261.Tt
innyBudynekWykorzystywanyNaCeleKultury = 1261.In
archiwum = 1262.Ar

biblioteka = 1262.BI

centruminformacyjne = 1262.Ci

galeriaSztuki = 1262.Gs

muzeum = 1262.Mz
innyBudynekMuzealnyLubBiblioteczny = 1262.In
obserwatoriumLubPlanetarium = 1263.0b
placowkaBadawcza = 1263.Pb

przedszkole = 1263.Ps

stacjaHydrologiczna = 1263.Sh
stacjaMeteorologiczna = 1263.Sm
szkolaPodstawowa = 1263.Sp
szkolaPonadpodstawowa = 1263.Sd
szkolaWyzsza = 1263.Sw
innyBudynekOCharakterzeEdukacyjnym = 1263.In
hospicjum = 1264.Hs

izbaWytrzezwien = 1264.lw
jednostkaRatownictwaMedycznego = 1264.Jr
KinikaWeterynaryjna = 1264.Kw
osrodekOpiekiSpolecznej = 1264.00
placowkaOchronyZdrowia = 1264.Po

sanatorium = 1264.St

stacjaKrwiodawstwa = 1264.Sk
stacjaSanitamoEpidemiologiczna = 1264.Ss
szpital = 1264.Sz

zlobek = 1264.Zb

innyBudynekOpiekiMedycznej = 1264.In
halaSportowa = 1265.Hs

halowyTorGokartowy = 1265.Ht

KubSportowy = 1265.Ks

kortyTenisowe = 1265.Kt

kregielnia = 1265.Kr

plywaln 1265.PI

budynekSaliGimnastycznej = 1265.Sg

strzelnica = 1265.St

sztucznelLodowisko = 1265.SI

ujezdzalnia = 1265.Uj
innyBudynekKulturyFizycznej = 1265.In
budynekSkladowyWGospodarstwieRolnym = 1271.Bg
budynekinwentarskiWGospodarstwieRolnym = 1271.Bp
budynekStadninyKoni = 1271.St
szklarmiaLubCieplarnia = 1271.Sz
innyBudynekWGospodarstwieRolnym = 1271.In
budynekCmentarny = 1272.Bc

cerkiew = 1272.Ck

domPogrzebowy = 1272.Dp

dzwonnica = 1272.Dz

kaplica 1272 .Kp

kosciol = 1272.Ks

krematorium = 1272.Kr

meczet = 1272.Mc

synagoga = 1272.Sn
innyBudynekKultuReligijnego = 1272.Ir
zabytekBezFunkcjiUzytkowej = 1273.Zb
aresztSledczy = 1274 .As

bacowka = 1274.Bc

schroniskoDlaNieletnich = 1274.Sc
stacjaGazowa = 1274.Sg

stacjaPomp = 1274.Sp

stacjaTransformatorowa = 1274.St
toaletaPubliczna = 1274.Tp
niemieszkalneZabudowaniaKoszarowe = 1274.Zk
zakladKamylLubPoprawczy = 1274.Zp
budynekNieOkreslonylnnymAtrybutemFSB = 1274.In

«DataType»
EGB_Liczbalokali

liczbaMieszkan1izbowych :Integer[0..1]
liczbaMieszkan2izbowych :Integer [0..1]
liczbaMieszkan3izbowych :Integer[0..1]
liczbaMieszkan4izbowych :Integer [0..1]
liczbaMieszkan5izbowych :Integer [0..1]
liczbaMieszkan6izbowych :Integer [0..1]
liczbaMieszkan7izbowych :Integer[0..1]
liczbaMieszkan8izbowych :Integer [0..1]
liczbaMieszkan9izbowych :Integer [0..1]
liczbaMieszkan10izbowych :Integer [0..1]
liczbaMieszkanZPonad10izbami :Integer [0..1]

PR A

constraints
{GUSbudynkiMieszkalne}

«enumeration»
EGB_GlebylLIPsNaTerNizIWyz

brunatnelRdzawe = BZ.
brunatneGlejowe = BZ(G).
czamoziemy = CZ.
czamoziemyGlejowe = CZ(G).
czameZiemie = DZ.
czameZiemieGlejowe = DZ(G).
bagiennelPobagienne = EZ.
mady = FZ.

madyGlejowe = FZ(G).
redziny = GZ.

redzinyGlejowe = GZ(G).

«DataType»
EGB_OznaczenieKlasouzytku

+ OFU :EGB_OFU
«voidable»

+ OZU :EGB_OZU
+ OZK :EGB_OZK

constraints
{tworzenieOznaczenia}
{wystepowanieOZUiOFU}
{zaleznoscOFUIOZUiOZK}

«enumeration»
EGB_PrzyczynaRozbiorki

zlyStanBudynku = 1
kolizjaZNowalnwestycja =
inna =3

«enumeration»
EGB._| j ObiektuZwi ZBL i

«enumeration»
EGB_StanUzytkow aniaBudynku

budynekOddanyDoUzytkowaniaWCalosci =
budynekOddanyDoUzytkowaniaWCzesci = 2

taras = 1

werandaGanek = 2

wiatrolap = 3

schody = 4

podpora =5

rampa = 6

wjazdDoPodziemia = 7
podjazdDlaOsobNiepelnosprawnych = 8
inny =9

«enumeration»
EGB_ReprezentacjaPow Dzialki

dokiDoM = 1
doklDoAra = 2

«enumeration»

«enumeration»

«enumeration»
EGB_RodzajBloku EGB_OZK
kondygnacjeNadziemne = 1 |
kondygnacjePodziemne = 2 1
lacznik = 3 11l
nawis = 4 lla
przejazdPrzezBudynek = 5 11b
inny =6 v
IVa
Vb

Vv

«enumeration» Vi
EGB_RodzajLokalu Viz

EGB_Ozu

gruntOmy = R

lakaTrwala = £

pastwiskoTrwale = Ps

las=Ls
gruntZadrzewionylZakrzewiony = Lz

«enumeration»
EGB_ZrodloDatyBudowy

mieszkalny = 1
niemieszkalny = 2

dokument = 1
zrodloNiepotwierdzone = 2
szacowana = 3




«enumeration»
EGB_GlebyTerNizIWyz

brunatnePloweBielicoweRdzawe = AB.

B.
czamoziemy = C.
czarneZiemie = D.
bagiennelPobagienne = E.
mady = F.

redziny = G.

EGB_MaterialScianZew nBudynku

«enumeration»

mur =1
drewno = 2
inny =3

«enumeration»
EGB_StatusBudynku

wybudowany = 1

wBudowie = 2
objetyNakazemRozbiorki = 3
projektowany = 4

«enumeration»
EGB_GlebyTerGorskich

inicjalne = H.
brunatnePlowelBielicowe =
mady = J.

redziny = K.

czarneZiemie = L.
bagiennelPobagienne = M.

«enumeration»
EGB_ZakresPrzebudow yBudynku

przebudowa = 1
nadbudowaBezZmian = 2
czesciowaRozbiorkaBezZmian = 3
nadbudowaZmiana = 4
czesciowaRozbiorkaZmiana = 5
inny =6

«enumeration»
EGB_GlebyLIPsNaTerGorskich

inicjalne = HZ.

brunatnePlowelBielicowe = 1Z.
brunatneGlejPloweGlejlBielicoweGlej = 1Z(G).
mady = JZ.

madyGlejowe = JZ(G).

redziny = KZ.

czarneZiemie = LZ.

bagiennelPobagienne = MZ.

«DataType»
EGB_OznaczenieTypuGleby

+ 4+ 4+

terNizinnelWyzynne :EGB_GlebyTerNizIWyz [0..1]

terGorskie :EGB_GlebyTerGorskich [0..1]

lakilPsNaTerNizinnychlWyzynnych :EGB_GlebylLIPsNaTerNizIWyz [0..1]
lakilPsNaTerGorskich :EGB_GlebylLIPsNaTerGorskich [0..1]

constraints

{wskazanieRodzajuTerenu}




